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l. Vocabulary and Grammar: Select the most appropriate word or phrase to complete each of the
following sentences. (40%0)
1. Isn't there anything better than this on TV? I'm sorry,

A. but these is the best. B. they isn't C. this is the better show. D. there's nothing better.
2. Have you been to Africa? No, | haven't.
A. ever B. always C. still D. yet
3. When I was in school, we study Ancient Latin.
A. mustn’t B. hadn’tto C. didn’t have to D. hadn’t got to
4. We must the roof fixed before it rains.
A. get B. cause C. has D. make
5. Pablo is late; he overslept.
A. should have B. would have C. must have D. will be
6. |don'tthink can run faster than Carl Lewis. He won the Olympic gold medal.
A. everyone B. no one C. anyone D. someone
7. thinking about your brother?
A. What you were  B. Were you C. Was you D. You were
8. Catherine is really a snob: she walked right me without even saying hello.
A.to B. across C. from D. by
9. Could you repeat the question please? I'm sorry, very clearly right now.
A. don't think B. do not think C. I’mnot thinking  D. I don’t think
10. Karen known that her cheap umbrella would break in the storm. It has happened to her many
times before.
A. should of B. should have C. would have D. would of
11. The judge did not believe any of stories.
A. their B. there C. they’re D. them
12. The meeting attendees needed to express a preference five plans.
A. through B. with C. among D. between
13. The golf course at the resort is lovely, but | prefer swimming pool.
A.its B. it’s C. there D. those
14. Marta completed five problems than I did in the same amount of time.
A. fewer B. less C. lesser D. few
15. Which is NOT polite?
A. May | have some ketchup? C. Can | get some salad?

B. I'd like a beer. D. I want a hamburger.
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16. Choose the correct response: What happened to the cake?
A. It was eaten. C. The cake eaten.
B. The cake was eating by George D. George eats it.
17. Choose the correct response: Why do you shop at Sun Market?
A. it's convenient C. it's less expensiver
B. for save money D. every Friday
18. Choose the correct question: ?  She's about seventy-five kilograms.
A. What weight is Mrs. Park? C. How much does Mrs. Park weigh?
B. Which weight is Mrs. Park? D. How much weighs Mrs. Park?
19. Choose the correct sentence.
A. She and he are always fighting. C. Her and him are always fighting.
B. She and him are always fighting. D. Him and her are always fighting.

20. Choose the correct sentence.
A. Here is the paper clips you requested. C. Here are the box of paper clips you requested.

B. Here's the paper clips you requested. D. Here are the paper clips you requested.

I1. Reading Comprehension. After reading the article, choose the best answer to each question. (20%b)

The Alaska Pipeline
line
1 The Alaska pipeline starts at the frozen edge of the Arctic Ocean. It stretches southward across
2 | the largest and northernmost state in the United States, ending at a remote ice-free seaport village
3 | nearly 800 miles from where it begins. It is massive in size and extremely complicated to operate.
4 The steel pipe crosses windswept plains and endless miles of delicate tundra that tops the frozen
5 | ground. It weaves through crooked canyons, climbs sheer mountains, plunges over rocky crags,
6 | makes its way through thick forests, and passes over or under hundreds of rivers and streams. The
7 | pipe is 4 feet in diameter, and up to 2 million barrels (or 200 million liters) of crude oil can be
8 | pumped through it daily.
9 Resting on H-shaped steel racks called "bents," long sections of the pipeline follow a zigzag
10 | course high above the frozen earth. Other long sections drop out of sight beneath spongy or rocky
11 | ground and return to the surface later on. The pattern of the pipeline's up-and-down route is
12 | determined by the often harsh demands of the arctic and subarctic climate, the tortuous lay of the
13 | land, and the varied compositions of soil, rock, or permafrost (permanently frozen ground). A little
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14 | more than half of the pipeline is elevated above the ground. The remainder is buried anywhere from
15 | 3to 12 feet, depending largely upon the type of terrain and the properties of the soil.

16 One of the largest in the world, the pipeline cost approximately $8 billion and is by far the

17 | biggest and most expensive construction project ever undertaken by private industry. In fact, no

18 | single business could raise that much money, so 8 major oil companies formed a consortium in order
19 | to share the costs. Each company controlled oil rights to particular shares of land in the oil fields and
20 | paid into the pipeline-construction fund according to the size of its holdings. Today, despite

21 | enormous problems of climate, supply shortages, equipment breakdowns, labor disagreements,

22 | treacherous terrain, a certain amount of mismanagement, and even theft, the Alaska pipeline has been
23 | completed and is operating.
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The passage primarily discusses the pipeline's

A. operating costs B. employees C. consumers D. construction
The word "it" in line 3 refers to
A. pipeline B. ocean C. state D. village
According to the passage, 200 million liters of oil can travel through the pipeline each
A. day B. week C. month D. year
The phrase "Resting on™ in line 9 is closest in meaning to
A. Consisting of B. Supported by C. Passing under D. Protected with
The author mentions all of the following as important in determining the pipeline's route EXCEPT the
A. climate B. lay of the land itself ~ C. local vegetation D. kind of soil and rock
The word "undertaken™ in line 17 is closest in meaning to
A. removed B. selected C. transported D. attempted
How many companies shared the costs of constructing the pipeline?
A.3 B.4 C.8 D.12
The word "particular™ in line 19 is closest in meaning to
A. peculiar B. specific C. exceptional D. equal

Which of the following determined what percentage of the construction costs each member of the
consortium would pay?

a. How much oil field land each company owned

b. How long each company had owned land in the oil fields

c. How many people worked for each company

d. How many oil wells were located on the company's land
Where in the passage does the author provide a term for an earth covering that always remains frozen?

A.Linel B. Line 4 C. Line 10 D. Line 13
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I11. Translation. Translate the following sentence into standardized and grammatically correct English.

(10 %)
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IV. Composition. Write a well-organized 200-300 word essay describing one law that you think should
be created or changed. Include explanations and examples. (30%6)




